THEORETICAL QUESTICNS

@

Aa A = q wer - - e F et
Fuer = G = Y Hewe = 100-18-0'5 = i ken /o
A= I&oe - IQED- Taince + IGRE€M
Tpe @ @=5mib=gn z=dn
m= 3 = S /' = é -
C 2
Agie = 0.299
IRED Q~§’k{b'=3§fk.2~{m
n\—\S:S’n:.‘2=3~S Yow
2 2
Loaae - o.:Zm,é=6m, 2=dnm Ierzesul = 2“\,6:3'5-'1«,2:’10\
b
= 2 = 2 = = H-
m= 322, ne 326 m=2=2, n= 5§35
—Lg 6. 240 JG{{E&,J = OZ%%S
ACk
. -y - 5
AGy = 943 (6.2% ~0.2473-0.240 +o‘z%88> = 94-S o ' = 0.0495S kn/m
AN
NN

@ dy,= 2 Kz')?\a @ 5 _
) A\_\ fj \\\\
v= KW. LWT | Y ongolidalion Ve
| \\
{
G\/ = G\/ - WL g _
| 1 T et e it
Tu= Ko Oy &gt
\ .
‘;‘: \h”\a e'%? Cwrve




@) s 2%m .

g‘l: 3'S.nw

Saten = DO M~

D ALowpBlLe
~n < 428 mm
S5y = 34-29= A2 m

3

(3 S L 3 2 __.i = 20
2= S‘l - = 4.7'10 ~ P)
\

b

3
Lia o - (o



EXERC\SE

A s S

v{aAu(,t — individuad foo“wag —_— i: £4S /fhz

@ S@ : 5:44.3 ko Npe= 13, E= A2Mnifot , B=3S L= 4m , Ho = 4.Sm

@ CH - }51202 kn e Nags = 8S, Eu= 50 MN[m™ R=4m, L36m Here =Om
(S‘afufo‘%‘d) H =dom

-
~
=
—
x
\,?&
.
7

Afouieb® coltfoment = 25 mm  (ndndua focly = Viedudt)
@ s-1S%-= is(ﬁ-fs-gr‘b,a""- T.) ¢ 25m

- =35" - 256m 7 = 4-15225m

W Wl 2zse 52
L= 2 - =2 s == - —\1 =09 = 4,
f“ ZLXZ Z 2S6 [2 2§6’X 19 ©

-9
= 25- 4
L L 42
B+025 33*0 >
|- 445 & -
om0 > 9, >ql,

— . S - = »_Cl__\l
T = T Uo = A1S-A'S-0=%625

A4
N AM

2 07
S= &«8@-0-4-05@! W- '3‘?6-23)35 - o_oﬂm.) = 2233} mm £ 2Smm \/



Eu

9 -
@ SQQ‘CS%BKA‘D )

L’ Linded a’ﬁPﬂ\ (R=do m) = Tbs necesiary 0 dinde The (eganzuﬁlfafqa
w4 Po,-T IS

oyt 2-22145 . b
Be 2 7 (50097 PR
S
. 0-1
H._b.g e
By 2
Y Y 1-05") e i
gc‘: L{ 0.9%- qﬁ' 2 SO'\OS =R3%2 lo" m = 2352 mm
520555 & S22 = S22 45qqpmm £ 25 \/ B
0SS 0SS
Rk s ﬁgiﬁe%mb@ seffferentand ay of then could be sefeded.
OPTD\ {1, Sa® 2, becuse the Tl setifemenl & the smallest.
Q?Y_o_\_z . Ssk 4, becazLSeﬁz‘%OThg s smatlen
RPN
4 :
: | -
AG‘V(QO =% 4-Ty
Ja: a=3m, bzz’“'zzosh"m:%‘:é’:h:%:q@ i :;
= T,=024%2 | e B!
/_m(q‘\ - 445.4.024 & = A43.8Y ke [m” L
Ty, = ¥ Zp=202-0-52304 kNl Ue= Y - hwr = 4205 =99 “r:\_\lx
T, = Q- =bA-49= 52 llm® = Ol bouse ot the €4 of the nsTudfion The
AR e pore Walde e/ Talkeor aff e ATy
L

Ty = T, Aq\/(%\ = 404 + 443.34 = 45394 kv [ m

We = U + ATy (g) = 49 + 43 84 = 44234 b I
WA AN



